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BACHELOR OF EDUCATION 

Term-End Examination 02950 
December, 2013 

ES-335 : TEACHER AND SCHOOL 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the four questions are compulsory. 
(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
What are the central level institutions and 
organizations for School Education ? Write down 
the responsibilities of centre and state in school 
education. 

OR 
What is action research ? What are its 
advantages ? State a problem you have faced 
with -in your school and describe how would you 
solve it through action research. 

2. Answer the following question in about 
600 words : 
What is time - table ? Why is it important ? 
Discuss its types and principles of time - table 
construction . 

OR 
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What do you mean by a School-budget ? Explain 

its types and why is it necessary ? Write the steps 

for preparing a School budget and the care you 

will take to manage the budget. 

3. 	Answer any five of the following in about 

120 words each : 

(a) Justify the Statement - "Society is a system 

and that education is a sub-system of the 

societal system." 

(b) What are the functions of SCERT and 

Secondary Education Board ? 

(c) What are the key elements in organizational 

behaviour ? 

(d) What are the attributes required of a teacher 

to be effective in community 

participation ? 

(e) Identify the problems which teacher may 

face during student evaluation ? 

(f) Explain the meaning of the term 

'Management Process.' Mention a few 

activities of teachers while being involved 

in the management process. 

(g) Explain the nature of educational 

leadership. 

(h) Describe the role of a teacher in organising 

co-curricular activities in school. 
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4. 	Answer the following question in about 

600 words : 

In your school you might be facing some typical 

problems in various functional areas. Apply any 

one of the decision-making techniques you have 

studied and offer possible solutions for the 

problems faced. 
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